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QUESTION 1

Your system is newly built and has a default set up. When you add an account using roleadd, what is the default shell? 

A. /usr/bin/sh 

B. /usr/bin/ksh 

C. /usr/bin/pfsh 

D. /usr/bin/prsh 

E. /usr/bin/pfjsh 

F. /usr/bin/prksh 

Correct Answer: C 

 

QUESTION 2

You have determined that it is unnecessary to save all core files generated by your system. You would only like to save
core files generated by applications that are executed from the /usr/bin directory. Which command configures the
system to produce core files in the global repository only if the executables were run from the /usr/bin directory? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 3
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You want to boot a SPARC-based system and stop system initialization at run level 2. Which two procedures can do
this? (Choose two.) 

A. Use the reboot -- -2 command to shut down and reboot the system. 

B. From the OBP ok prompt, boot the system using the boot -2 command. 

C. Set the milestone for this reboot to multi-user. 

D. Shut down the system with the init s command, then use the init 2 command to switch to run level 2. 

E. From the OBP ok prompt, boot the system to run level s, then use the init command to set the run level to 2. 

Correct Answer: CE 

 

QUESTION 4

You have been requested to supply a list of the Solaris software cluster groups for a project. Which command produces
the required information? 

A. cat /etc/cluster 

B. cat /var/sadm/install_data 

C. grep METACLUSTER /etc/release 

D. cat /var/sadm/system/admin/CLUSTER 

E. grep METACLUSTER /var/sadm/system/admin/.clustertoc 

Correct Answer: E 

 

QUESTION 5

You have an x86-based server with two disk drives and a Solaris image installed on each. You want to set your Solaris
x86-based server so that you can select which Solaris image to boot from when the server is powered on. Which
describes how this is accomplished? 

A. Set timeout=-1 in /boot/grub/menu.lst and let the operator select which image to boot from. 

B. Set eeprom autoboot?=false and let the operator select which image to boot from. 

C. Set autoboot?=false in /boot/grub/menu.lst and let the operator select which image to boot from. 

D. When multiple images of Solaris are installed, the default behavior is for the system to stop at the GRUB menu and
let the operator select which image to boot from. 

Correct Answer: A 

 

QUESTION 6
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Given the following output from dumpadm on a system with the node name, rabbit: # dumpadm Dump content: kernel
pages Dump device: /dev/dsk/c2t3d0s0 (dedicated) Savecore directory: /var/crash/wm13w6 Savecore enabled: no 

Which three commands have been executed to accomplish this configuration? (Choose three.) 

A. dumpadm -n 

B. dumpadm -c none 

C. dumpadm -s wm13w6 

D. dumpadm -d c2t3d0s0 

E. dumpadm -d /var/dsk/c2t3d0s0 

F. dumpadm -s /var/crash/wm13w6 

Correct Answer: AEF 

 

QUESTION 7

A system administrator found the following message in the /var/adm/messages file: 

Jan 26 14:44:29 host genunix: [ID 936769 kern.notice] pm0 is /pseudo/pm@0 

Which statement is true? 

A. The message was logged by the kernel. 

B. The message was created by the logger command:logger -t genunix -p kern.notice "pm0 is /pseudo/ pm@0". 

C. The message was created by the logger command:logger "genunix: [ID 936769 kern.notice] pm0 is /
pseudo/pm@0". 

D. The message was created by the logger command:logger -t genunix -p kern.notice "[ID 936769 kern.notice] pm0 is
/pseudo/pm@0". 

Correct Answer: A 

 

QUESTION 8

The do_stuff file has been created so that when users execute it, the GID of the process that is created is the same as
the group owner of the file, but the owner of the process is the user that started it. 

Which command sets the group ID on this file? 

A. chmod 6555 do_stuff 

B. chmod 2544 do_stuff 

C. chmod 2555 do_stuff 

D. chmod 2444 do_stuff 
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Correct Answer: C 

 

QUESTION 9

The oldtimer printer needs to be decommissioned because the newkid printer has made it obsolete. Which sequence of
commands decommissions oldtimer without losing any print requests? 

A. reject oldtimermv /var/spool/lp/requests/oldtimer/*/var/spool/lp/requests/newkidenable newkiddisable oldtimer 

B. lpshutmv /var/spool/lp/tmp/oldtimer/*/var/spool/lp/tmp/newkidlpadmin -x oldtimerlpsched 

C. reject oldtimerdisable oldtimer 

D. reject oldtimerlpmove oldtimer newkidlpadmin -x oldtimer 

Correct Answer: D 

 

QUESTION 10

The security policy for a company requires that volume management is disabled for all the systems. A user has a DOS-
formatted diskette with files that need to be transferred to that user\\'s home directory. 

Which command mounts the diskette? 

A. mount -F pcfs /dev/rdiskette /mnt 

B. mount -F pcfs /dev/diskette /mnt 

C. mount -F pcfs /floppy/floppy0 /mnt 

D. mount /floppy/floppy0 /mnt 

Correct Answer: B 

 

QUESTION 11

You run the following command: 

ping host1 After a short time, you receive the following response: no answer from host1 

Which is a cause of this message? 

A. The interface on host1 is configured as down. 

B. Your local network interface is configured as down. 

C. Your IP address is not in the /etc/hosts file on host1. 

D. Your local system is unable to resolve the IP address for host1. 

Correct Answer: A 
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QUESTION 12

Given the line from a name service configuration file: 

ethers: nis [UNAVAIL=return] files 

Which two statements correctly describe the behavior of the name service switch? (Choose two.) 

A. If the NIS server does NOT respond, the search for the ethers entry will end without looking in the local file. 

B. If NIS does respond, but does NOT find the appropriate entry in its ethers map, the search will end without looking in
the local file. 

C. If NIS does respond, but does NOT find the appropriate entry in its ethers map, the search will continue by looking for
it in the local file. 

D. If the NIS server does NOT respond, the search for the ethers entry will continue by looking for it in the local file. 

Correct Answer: AC 
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